Rechne halbschriftlich!

8311-7 112=
2 857+ 3 853=
8 125- 7 888=
1494+ 486 =
4 526- 466 =
8 259- 5 969=
968 + 1 834=
8 557- 7 623=
8 268- 6 991=
9361- 7 335=
4 857+ 636 =
8 341- 5 367=
8 118- 1 255=
8 871- 6 846=
7157+ 116 =
9646- 519 =
2963+6 475=
5391- 2589 =
9938- 3 577=
9912-2718=

6 899- 457 =
6 891-1211=
1583- 951 =
3 883- 1 836=
3 831+4 234=
6 618- 341 =

374 +6172=
1 882+ 6 465=
5 852- 5 666=
2681+5991=
2 464+ 2 299=
1224+ 5 824=
5914- 2 665=
4 418+ 2 314=
2 426- 2 146=
439 +6 364=
2 235+6 987=
1413+ 3 747=
4 455+ 5 238=
454 +6 767=



Lésungen:

8311-7112=
2 857+ 3 853=
8 125- 7 888=
1494+ 486 =
4 526- 466 =
8 259- 5 969=
968 + 1 834=
8 557- 7 623=
8 268- 6 991=
9361- 7 335=
4 857+ 636 =
8 341- 5 367=
8 118- 1 255=
8 871- 6 846=
7157+ 116 =
9646- 519 =
2963+6 475=
5391- 289 =
9938- 3 577=
9912-2718=

1199
6 710

237

1980
4 060
2 290
2 802
934

1277

2 026
5493
2974
6 863
2 025
7273
9127
9438
5132

6 361

7194

6 899- 457 =
6 891-1211=
1583- 951 =
3 883- 1 836=
3 831+4 234=
6 618- 341 =

374 +6 172=
1 882+ 6 465=
5 852- 5 666=
2681+ 5 991=
2 464+ 2 299=
1224+ 5 824=
5914- 2 665=
4 418+ 2 314=
2 426- 2 146=
439 +6 364=
2 235+ 6 987=
1413+ 3 747=
4 455+ 5 238=
454 +6 767=

6 442
5 680

632

2047
8 065
6277
6 546
8 347

186

8 672
4 763
7 048
3 249
6 732

280

6 803
9 222
5160
9 693
[ 221
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